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GENERAL INTELLIGENCE TEST / 9 gfg uieror

Read the given statements.

All zebras are horses. All horses are

donkeys.

Which of the following conclusions
logically follow from the given
statements?

a) All zebras are donkeys.

b) All donkeys are zebras.

c) Some donkeys are zebras.

d) Some horses are zebras.

(A) Conclusions a, b, ¢ and d follow.
(B) Conclusions a, b and ¢ follow.

(C) Conclusions a, ¢ and d follow.

(D) Conclusions b, ¢ and d follow.

If all the vowels are removed from the
English alphabet, then what will come at
the 15" place in the new alphabet series?
(A) Letter O
(B) Letter R
(C) Letter S
(D) Letter T

If all the letters appearing at the prime
number positions in the English alphabet
are removed, then what will come at the
11" place in the new alphabet series?

(A) Letter P

(B) Letter R

(C) Letter S

(D) Letter T

Q51

Q52

Q53
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QU U FHFT T U< |
T SIE}T 'S © | 9 =g T §

feforRaa fApet # & @9 @1 ey
QU Ty Tl &1 b wU A ATERT
BT B |

a) fl 9’7 MY E

b) T T ST € |

c) EE'J‘TQF@_IW%I

d) EB °S V& B |

(A) FBY a, b, ¢ 3R d IFART FRA 2 |
(B) fshd a, b 3R ¢ IRV B B |
(C) Y a, ¢ 3R d TRV & & |
(D) fspY b, ¢ 3R d IFART R 2 |

i IS JuHTAT & T R (aT337)
gl QU I 8, d1 guiTelt &1 7 SRael
H 159 I TR AT M7

(A) RO

(B) 31&R R

(C) JFeR S

(D) 3eR T

Ife 3o guiATen # orTST | @l
I UR 3M dTel AT 31eRT Bl gel fa
ST &, A1 auMErel &l 9 sfEar H§ 119
I YN T JYT?

(A) &R P

(B) 3R R

(C) &R S

(D) 3R T
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Consider the following series of letters

and numbers.

A1BCAGZY6LESMPS2YTOWKIXUQ3DF
H5NOV7IJR

What comes at the 17" position to the
right of the 31st character from the right?
A) X

(B) U

© Q

(D) 3

In a certain language, if ANIMAL is
coded as OZNHMZ and INSECT is
coded as OHFRUB, then how will the
word ELEPHANT be coded as?

(A) DMDQGBMU

(B) MDQDEGUN

(C) MDODBGVM

(D) MDQDBGUM

Select the letter-pair that will come next
in the following series.

DW, GT, JQ, MN, PK, SH, ?

(A) UE

(B) UF

(C) VF

(D) VE

Select the letter-pair that will come next
in the following series.

AC, DG HM, NU, VG HU, ?

(A) VK

(B) VL

(C) VM

(D) VN

11
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TR fI=R SIS |

AIBCAGZYO6LESMPS2YTOWKOXUQ3DF
H5NOV7IJR

U | 31d 3R & TN TRB 17d I
TR QAT 31T 87

(A) X

(B) U

© Q

(D) 3

vep Afdaa W |, afe ANIMAL &7
OZNHMZ & %4 ¥ Prs fbar orar &
3R INSECT @ OHFRUB & U H ®ls
far <Iram ®, o 3res ELEPHANT &1
fra wu d wre fHar Ser?

(A) DMDQGBMU

(B) MDQDEGUN

(C) MDODBGVM

(D) MDQDBGUM

I Y&—JH Bl FIT DX Sl [eAferiad
SRISAT H SFTAT 3T |

DW, GT, JQ, MN, PK, SH, ?

(A) UE

(B) UF

(C) VF

(D) VE

S Aq—YH BT gG DY il fereferiaa
ST ST YT |

AC, DG, HM, NU, VG, HU, ?

(A) VK

(B) VL

(€©) VM

(D) VN
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Select the term that is missing from the
following series.

D32, W34, ?, L33, H30, E32, C29, B31
(A) 031

(B) P33

(C) Q31

(D) R32

Select the term that is missing from the
following series.

W4C3, U6ES, S8G7, Q1019, 012K 11, ?,
K16015, 118Q17

(A) M13M14

(B) MI3N14

(C) N14M13

(D) M14M13

In the following series of letters and
numbers, what is the difference between
the count of numbers and the count of
vowels?
A1BC4GZYO6LESMPS2YTOWKI9X
UQ3DFHSNOV7IIR

(A) 4

B) 5

) 6

(D) 7

If we interchange ‘+’ with ‘=’ and ‘-’ with
‘x’, then what is the value of the following
expression?

32+4+3x2-5

(A) O

B) 1

©) 19

(D) 31

12

ferforRaa siaer § 9 srguRerd ug &1
T BN |
D32, W34, 7, L33, H30, E32, C29, B31
(A) 031
(B) P33
(©) Q31
(D) R32

fereifomRaa sfett W srquRerd g &1
ERRIERY

W4C3, U6ES, S8G7, Q1019, 012K11, ?,
K16015, 118Q17

(A) M13M14

(B) M13N14

(C) N14M13

(D) M14M13

#, el & [l &R w@_i @7 Qe
% 9/ I iR 27
A1BC4GZY6LESMPS2YTOWKI9X
UQ3DFH5NOV7IIR

(A) 4

B) 5

(©) 6

D) 7

IfT B 4+ BT+ WIAR 2 B X
gforRenfid o= <, a1 fferRaa Tiiavor
BT T A BETT?

32+4+3x2-5

(A) 0

(B) 1

(C) 19

(D) 31
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Q62 Read the given question and decide which

Q63

of'the following equations is/are sufficient/

necessary to answer the question.

Question:

What is the value of x if both x and y are
positive integers?

Equations:

1) x+2y=14

2) x-y=2

(A) OnlyEquation 1 is sufficient to derive
the value of x.

(B) Only Equation 2 is sufficient to derive
the value of x.

(C) Neither equation 1 nor 2 alone is
sufficient but both together are
necessary to derive the value of x.

(D) Any individual equation or both the
equations combined are not sufficient

to derive the value of x.

Read the given question and decide which
of the following options is additionally
required to answer the question?
Question:

Sudhakar is taller than Ramesh and Rajesh
is shorter than Sudhakar. Who is the
shortest amongst them?

(A) Ramesh is not the tallest person.
(B) Sudhakar is not the shortest person.
(C) Rajesh is not the tallest person.

(D) Rajesh is not the shortest person.

Q62

Q63

13

v v g9 @1 ug 3R ol < {6 g
BT IR o B forv f=feaRad aievon

HY DI AT/ H FHIHROT T / a9
2/%|

U3
aﬁxﬁyﬁmwgﬁx
BT A9 AT 8?

FHIHRT

1) x+2y=14

2) x-y=2

(A) x BT 7 U HA B oIy dad
THHROT | T ¥

(B) x &1 A U<l &R & oy dad
THDRT 2 qAT B |

(C) x T A U &= & forg = ar
FHEROT 1 AR - & FHIDHRT 2
el WA § URY QM UD A1
ANMILTF £ |

(D) BIg N TH FAIBRT AT ST FHIHRO]
HYFT FY A x BT A UG PRA D
fog gafa =i €

3T vy @1 U 3R ok o f ge
P IR o B forg fer=ferfad fameat
i 9 fed ey a1 fdRed wu 9
JMMATIHAT B7°

o :

J Bl B STH 9 e BIST HIF 87
(A) YH e ofdT Afdd 78T 2 |

(B) uTaR e BICT Afad -T2 2 |
(C) IO e ofdT Afdd -1&T 2 |
(D) oY )T BleT aafdd e § |

SET-EF



Q64 Read the given question and decide which
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of the following options is additionally
required to answer the question.
Question:
A group of 2 boys, Alpesh and Dhruvit,
and 2 girls, Saguna and Vandana, are
seated around a round table, all facing
inwards and with equal spacing between
them. Alpesh is seated between Dhruvit
and Saguna. Who is seated to the
immediate left of Vandana?
(A) Vandana is seated opposite to Alpesh.
(B) Dhruvit is seated opposite to Saguna.
(C) Dhruvit is seated on the immediate
right of Alpesh.
(D) Dhruvit and Saguna are not seated

next to each other.

Read the given question and decide which

of the following options is additionally

required to answer the question.

Question:

A is the husband of B and C is the son of

A. D and E are the children of F, who is

the daughter-in-law of A and B. What is

the relation between C and F?

(A) C has two sisters, one elder to him
and the second one younger to him.

(B) C is the only son of his parents.

(C) D is the brother of E.

(D) E is the sister of D.

14

Q64 1T TV we BT ud 3R ol of fob wre
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BT IR o & forg freifead faeeat
# ¥ 5w ey o1 sfiRed wu A
LI 2 |

PEG

2 e, AU AR gfad, 3R 2 TS,
AT 3R dEHT BT Yeb g, U TMiel
BT AR T 3R I8 99 R QA 2|
3reer, gfad SR A & 9= JoT 7|
dgHT & doblel a8 3R DI d0T 82
(A) G, T & A 93T T |

(B) ¢fdd, AT & AT 3T ¥ |

(C) gfad, e & R <T¢ 93T & |

(D) gfaa iR VAT U6 TN & AT
el 93 €

3T T U @1 U 3R i o f e

P IR o B forg Fr=iferiad fadeat

i 9 e Aeca o afiRed wu &

AITIHAT & |

P EG

A,BUfi 8 3R C,A®T 43 5| D3R E,

F&qed € ST A JIRB@T 98 7 | CIIR

F & 4919 w1 Fae 87

(A) CHI QT 981 &, U SOY 91 © 3R
T 99 BT 7 |

(B) C 31 A—fUar &1 gdhaiar g
=

(C) D,E &7 9Ig ¥ |

(D) E,D &I 989 § |
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Q66 Read the given question and decide which
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of the following options is additionally

required to answer the question.

Question:

A and B are the children of C and D. A is

a boy and has 2 sisters, whereas B has 3

brothers. How many children do C and D

have?

(A) E is the sister of A.

(B) B is the sister of E, who is the
daughter of C.

(C) F and G are the brothers of A.

(D) Cis the husband of D.

Read the given question and decide which

of the following options is additionally

required to answer the question.

Question:

A group of students is seated in a straight

row and are watching a concert. Dinesh

is seated at the fifth seat from the left side.

Nimesh is seated at the ninth seat from

the left side. What is the total number of

students seated in the row?

(A) There are four students between
Dinesh and Nimesh.

(B) Rajesh is seated at the sixth position

from the left and is to the immediate

right of Dinesh.

(C) Satish is seated at the eighth position

from the left and is to the immediate

left of Nimesh.

(D) Pritesh is seated at the seventh

position from the right and has

exactly one student between him and

Dinesh.
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T 77 g B ue 3iR fofa o f ge
BT SR o ® forv fA=faRad faweni
# 9 fpa fAvey o afiRed w9 <
AITIHAT & |

o

AR B,C3R DD 9= & | AUD ASH
2 3R SHPT T 98+ 8, 9efh B & A
g 81 C3IR D& e dea &7

(A) E,A® 989 § |

(B) B,E®! 98 &, Slifd C &1 9T 2|
(C) FAR GAD wTE 2|

(D) C,D &1 ufd 2|

ey 17w @1 v iR iy of fa5 oo

P IR o B forg FFr=iferRad fadeai

# ¥ fea e o faRed wu

AITIHAT & |

U9 :

BE & S g e ufad # 991 '

IR Uh P 9@ W@l 2| N 9

NG I gradl die W 901 2 | Ry 918

IR ¥ il e w Jor ¥ | ufdd # 99

BE B ol G fHa 2 |

(A) feer iR e & /g oR B3 €|

(B) XOTYT 918 3R & Bol He R 967 §
AR foer & qRa | 2|

(C) |er 91E 3R & 3adl Hie W) 93T
2 3R firer & R qd 2|

(D) WA <TE 3R W A4l e W doT
2 3R S 3R fevwr & 99 B
o 2

SET-EF



Q68

Q69

P-4

Read the given question and decide which
of the following options is additionally
required to answer the question.
Question:
All the students in a class passed the exams
and each one got a unique rank. Deepak
secured 10" rank and had 4 girls ahead of
him and 10 boys behind him. What is the
total count of students in the class?
(A) There were 5 boys ahead of Deepak.
(B) The class had a total of 16 boys.
(C) The total number of girls in the class
was less than the total number of boys
in the class.
(D) The count of boys is 4 more than the

count of girls.

Read the given question and decide which

of the following options is additionally

required to answer the question.

Question:

Deepak, Deepankar and Deepika are

standing in the admission queue. Deepika

is standing at the 16™ position and is the

last person in the queue. Deepak and

Deepankar have 4 other students between

them. Deepankar and Deepika have 9

students between them. At what position

is Deepak standing in the queue?

(A) There are a total of 16 students
standing in the queue.

(B) Deepankar is standing a few places
behind Deepak.

(C) Deepak is standing ahead of Deepika.

(D) Deepankar is standing ahead of

Deepika.
16

Q68

Q69

QT 717 yeT &1 U 3R fofa o f ge

P IR o B forg fer=iferfad fameat

i 9 foa Aea o afiRed wu &

AITIHAT & |

o

UHh Hell H T BT 7 IRIeTT St &bl

2 3R UD Pl b 3fgfaciy Aofl ured

g2 2| €& 7 10af ¥ gIRTS foham iR

IAD I 4 Asfham IR I9d W 10

D U| Pl H BIEAT Bl HA HAT

fopasi 22

(A) CUH & 3T 5 ASD o |

(B) el ¥ Gl 16 <SS & |

(C) PeT 7 TSl 1 F{oT |, el
H D B Hol AT I B o |

(D) TSP BT ot AT ASfHal B ot
T 4 AP T

3T T U BT U 3R i o f e

P IR o B forg fer=iferfad fameat

i 9 fd ey @1 fdRed wu 9

AITIHAT & |

ISEG

U, Ui R QST yawr dfed

TS 2| NPT 167 T W T & AR

ufdd # 3ifcd | e IR AR &

91 4 o9 B B | AR 3R fdr &

99 9 BF 2| ufdd # s fod e

R ST 27

(A) T # @1 16 B TS T |

(B) QU@R, AUYS F B W U6 el
2l

(C) Aup, ST F T T 7 |

(D) SR, BT H AT ST B |
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Q70 Read the given question and decide which

Q71

P-4

of the following options is additionally

required to answer the question.

Question:

A man has some money with him in

denominations of ¥ 10, ¥ 20 and ¥ 50.

The number of notes of ¥ 10 is 20 more

than the number of notes of T 20 and 50

more than the number of notes of ¥ 50.

What is the total amount with the person?

(A) The number of notes of I 20 is 30
more than the number of notes of
3 50.

(B) The number of notes of T 50 is 30
less than the number of notes of
< 20.

(C) The highest count of notes is of I 10
denomination and the least count of
notes is of ¥ 50 denomination.

(D) The total number of notes across all

denominations is 200.

Read the given question and decide which
of the following options is additionally
required to answer the question?
Question:

The ages of three people, A, B and C, are

in the ratio of 5 : 4 : 3. A is the eldest

person, whereas C is the youngest person.

What is the age of C?

(A) The difference between the ages of
A and B is the same as the difference
between the ages of B and C.

(B) The total of the ages of all the three
people combined is less than 100
years.

(C) Ais 16 years elder to C.

(D) The age of B is the same as the

average age of all the three people.
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Q70 faU 7T ye= @1 uQ SR ol of f& wea

Q71

B IR <4 B forg FfeRad faweat

H 9 e fdeey @ faRed wu 9

NIRRT B |

o :

U 3MEH & 9= 3 10,3203MRI50%

4 ® Ho U 8 1% 10D At &l Je&n

20 AIC BT AT I 20 31fSF B 3R

T50 D Alc B W | 50 31d B

T & 9 q[o fhan Al &7

(A) T20 Ac & AT IS0 Ale |
30 fS® 2|

(B) T50 D Arc & AT I20D Alc A
30 B

(C) 10D I BT AT T NP
3R T50 D Al & AT HIH HH
=

(D) V1 9T & HAIC B Bl AT 200
=

faQ Ty ued @1 v iR foty o fF wem

P IR o B forg Fr=iferRad fadmeai

i 9 e e o afiRed wu &

AMITIHAT ¢ |

o

A9 fdal, A, BIR C a1 3mg 5:4:3

@ U H T A \IH 91 Afdd

STafes C Fe¥ BIeT dfdd 81 C @l 3

T 87

(A) AR B! Mg H 3R B iR C &
3G & 3R & RR T |

(B) I fdqal @1 ol g BT A
100 a9 & &H T

(C) A,C 9 169Y 99T T |

(D) Bt 3mg |l Al eafdadi o 3
MY & R T |
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Q72

Q73

Q74

P-4

Select the odd one out of the following.
(A) Iron

(B) Copper

(C) Steel

(D) Aluminium

From the given options, select the figure

that can replace the ?° in the following

@ ’

figure series.

I

—_—
S—
—l
A p—

——
D —

(B)

©)

(D)

OINUSXS,

Select the odd name out of the following.
(A) Tony Blair

(B) Blaise Pascal

(C) Sir Isaac Newton

(D) James Prescott Joule

18

Q72

Q73

Q74

ferfoRad % & fawd &1 o9 wY |
(A) <TET

(B) e

(C) srd

(D) weyfafram

ey Y fAweat # |, 99 i &1 T
PN ST FFAfelRad i sjaretm § 2 &l
gforenfid wR Fael 2|

=@ -

(B)

(©)

(D)

DO

frfeRaa & & faww =M &1 999 o |
(A) TSI @RR

(B) =IoT URDel

(C) W TP Y

(D) S YDl [
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Q75

Q76

Q77

P-4

Select the word that does NOT belong in
the following group.

Baroda, Chennai, Bombay, Calcutta,
Cochin, Pondicherry, Cawnpore, Poona,
Calicut

(A) Chennai

(B) Cochin

(C) Cawnpore

(D) Poona

Out of 40 classmates, 17 play cricket, 19
play football and 3 play both cricket as
well as football. Identify the number of
students who neither play cricket nor
football.

(A) 7

(B) 8

<€) 9

(D) 10

In a class of 30 students, 15 students can
speak Marathi, 17 can speak Hindi and
13 can speak English. 5 Students can
speak both English and Marathi, and 2 out
of these can also speak Hindi. 6 students
speak only English and 7 students speak
only Hindi. How many students speak only
Marathi?

(A) 2

(B) 3

(C) 4

D) 5
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Q75

Q76

Q77

I & BT T4 B oI feiRad g
I HEfRT T8 2

geigl, I, 94, dHodbal, I,

40 \EUISAT H 4, 17 fhde Werd €, 19
Hedlel Weld © 3iR 3 fhae 3k hedld
TEI Werd | S Bl @ dwE @t
UEA X Sl A I fhdhe Werd € 3R 7
B {edld Ward 2 |

(A) 7

(B) 8

©) 9

(D) 10

30 BEI & Th PHell |, 15 B RIS
Il |Whd 7, 17 &1 9t Fahdl © 3IR 13
JUSH a1t Fehdl & | 5 B S 3R
RIS QM1 a9l Fahd 8, 3R 3TH 9 2
Bl W 911 Al 2| 6 BT dhael Ul
el & 3R 7 BTF Bad R dierd 2|
fa BT dael FRISI dleld 87

(A) 2

(B) 3

©) 4

(D) 5
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Q78

Q79

P-4

A certain group of students is travelling
by train. 30 students have mobile phones
and 20 students have tablets. 15 students
have both mobile phones as well as tablets,
whereas another 15 students have neither
mobile phones nor tablets. What is the
total number of students travelling?

(A) 30

(B) 45

(C) 50

(D) 55

What is the total number of triangles in

the given figure?

(A) 6
(B) 8
(C) 10

(D) 12

20

Q78 BEI & Ud FREd |8 ¢ | I &R
RE &1 30 BMAI & U9 AFEA B ©
3R 20 BTEI & UM Tl & | 15 BIE @
UTq AETSA BIF & ArI—AR Cdete
2, Sa(P 39 15 B & U9 A AT ATgd
B & 3R 7 & Cdelc & | AT PR dTel
BE B ol HEAT R®IT 2?

(A) 30
(B) 45
(C) 50

(D) 55

Q79 T Iy for 3 2Rl @1 et e el
g7

(A) 6
(B) 8
(C) 10

(D) 12
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Q80 The below sheet of paper with front side

P-4

marked with numbers and the rear side
blank is folded to form a dice with

numbers visible on the outer sides.

Which of the given options correctly

represents this cube?

1
@ | 4 P
5
® | 3 |°
5
2
©) 4
1
o | 2 [|*
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Q80 1 T T8 YR &I e, raH A= &1

WE HB 8l (@l 8, B 59 UPR
Pieg BB U YT 91T ST & b

TRATT ey &) IR fears <t 2 |
4
1 3
6
2 5
faw v fAwedt # | B A1 fdde 4
g DI AE K 57
1
w» | s )P
5
® | a |°
5
2
©) E:
1

o | o |*
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Q81

Q82

Q83

P-4

A man leaves his home and walks 10 km
towards East. He then turns right and
walks for another 5 km. He then turns
180° and walks for 10 km. Finally, he turns
left and walks for 10 km. How far is he
from his starting position?

(A) Okm

(B) 5km

(C) 10km

(D) 15km

Deepak leaves his home and walks
towards East for 12 km and then turns
left and walks 5 km to reach his school.
His sister Deepika also leaves the same
home at the same time but from the
backside exit and walks towards West for
12 km and then turns left and walks 5 km
to reach her school. What is the minimum
distance between the two schools?

(A) 10 km

(B) 17 km

(C) 24 km

(D) 26 km

Early morning, Shekhar leaves his home
and walks facing towards the sun such that
his shadow falls behind him. He walks 12
km to reach his office. In the evening, just
before sunset, he leaves his office and
again walks facing the sun such that his
shadow is exactly behind him. He walks 9
km and then turns left and walks another
4 km to reach his gym. What is the shortest
distance between his gym and his house?
(A) 3km

(B) 4km

(C) Skm

(D) 6km

22

Q81

Q82

Q83

e fdd 1o TR | Adherar € &k gd
@ AR 10 km Faa@m ©| fR T8 IW
&1 & 3R 5 km Foram 2 | fR 98 180°
S ST B 3R 10 km FefdT 21 37 4,
9% 91§ gSaT § 3R 10 km FefdT & | 98
3O RS 3 o e ) 72
(A) 0km

(B) 5km

(C) 10km

(D) 15 km

P U TR A Mdperar € 3R 12 km
9d BT AR FeId & 3R R 90 JodT &
3R U Thd TP Ugad b ol 5 km
Tl B | D! g8 AIfUBT |l ST AR
TR S R ¥ el aR% 3 9Tex et
2 @R 12 km U #I 3R Tl 8 3R
R ad gedfl & R U Thdd d%
Uged @ folg 5 km T® <okil 21 QT
el & 9 gAaan & T 8?

(A) 10km

(B) 17 km

(C) 24 km

(D) 26 km

Ud Gag, UER I TR I Ferar 2
IR TSI BT Qe H 39 USR Ferdl 7
P D! IRBTS I9d 4B g9d1 2 | I8
30 HATAT T Uga @ foig 12 km
TAA T | AW DI, IR I S UB,
IE U T A Fderar g &R i
RSl P! e H 39 PR Fodr © b
SHD! IROTS b I9P UIY g1 & | a8
9 km FeaT & 3R fhR 9T a1 2 3R
3o 5 @ Ugad @ folt 4 km 3R
T & | D R 3R IHD TR & 91
I BIST 0 R 72

(A) 3 km

(B) 4km

(C) 5km

(D) 6 km
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Q84 Which of the following can be folded and Q84 fa=forRad & & A Hles Db Tdh

made into a proper cube? Sferd w=@ # uRafia fear S Faar &7
(A) (A)
(B) (B)
(@ ©)
(D) (D)

P-4 23 SET-EF



Q85 In the given figure, if the hexagon is Q85 fag Ty formr #, A Y& BT 90° AT

rotated 90° anti-clockwise, the pentagon AT ST &, GaSt @l 270° <feyorad

is rotated 270° clockwise and the water REIRIRSIN 2 3R ST BT T T BiT

image of triangle is taken, how will the (arex 9T) off I ®, o1 2T o
SRTT?

new figure look like?

@ @
: . ; .
® ©®
N . : .

P-4 24 SET-EF



Q86

Q87

P-4

A company is targeting a 20% higher sales
volume for the next year. With a reduction
in the input materials’ cost, the profit
margin is expected to be more. Which of
the below conclusions can be definitely
drawn from this?
(A) The finished goods inventory in the
company will rise disproportionately.
(B) The company will increase sales, but
its profitability will be impacted.
(C) The company is expected to generate
higher sales and profits next year.
(D) The units sold will increase, but the

total sales revenue will reduce.

A retail store is running a discount of 20%
less on the printed price on a big packet
of wafers. After the sale period, this
discount offer will be withdrawn and the
sale price will be same as the printed price.
Which of the below conclusions can be
definitely drawn from the given
information?

(A) After the sale is over, the size of the
packet will get reduced by 20%.

(B) After the sale is over, the store will
stop keeping the big packet of wafers
in stock.

(C) After the sale is over, the price of
the packet will increase by 20%.

(D) After the sale is over, the price of

the packet will increase by 25%.

25

Q86

Q87

TS Ul BT 3Tl 9 & forg A &t
20% 31 9™ BT el B | SYAIT fHhy
ST dTet Ugrell &1 aRTd # &H & A,
AT HIRSH IR @1 8 & SIS 7 |
SH ¥ B | ey MiRed wu ¥

oY fAhaT ST Fhar 27

(A) BN H TR AT B I
JUTTE ®Y H qe |

(B) U @I fashl ¥ gieg BN, IRy g
ArgEar gHTiad g |

(C) DU ¥ 3Tt 99 S fdat iR
A HHM Pl SFIG B

(D) 9= 75 sHhIgAl H gfg BN, WRg
Gl Il o H B AT |

Th RS R B & Udh d3 Ube R

3ifhd oI WR 20% BE < =T 2| fawm!

A & d1e, I8 YT da PR &l gl

IR fasha Hea 3ifdhd Je & FH BRI |

IR A TS SAFSHRI H A Ry Ay

frspef # 9 @9 @1 ey Merer o

ABAT &7

(A) ¥ E@H & I & 918, Ude Bl
MR 20% HH B ST |

(B) I @H B 91 & 918, TR Tih
# I @ 9 Yde BT TEAT §€ TR
< |

(C) I A & WM B q78, Udbe Bl
D H 20% DI ghg B Y |

(D) I WH & I & I8, Udbe Bl
D H 25% DI glg DI S |
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Q88 Under the Make in India programme, the

Q89

government has provided tax holiday for

companies manufacturing mobile phones

in India. With a reduction in spectrum
charges, the telecom service operators will
reduce the outgoing call rate per minute.

Which of the following conclusions can

be definitely drawn from this?

(A) The government has not taken any
positive steps towards the concept of
Digital India as announced in its
manifesto.

(B) With benefits passed on to users, the

mobile penetration as well as average

minutes of usage is expected to go
up in the country.

(C) The government will impose import

restrictions on Chinese handsets, and

mobile operators will be forced to
also manufacture handsets.

(D) Mobile handset costs will rise and the

users will move from post-paid to

prepaid connection.

With Virat at the crease, India will score

the required 30 runs in 2 overs to win the

match against New Zealand. From this

statement, identify which of the following

assumptions is implicit?

(A) Virat is the lucky mascot for India.

(B) Virat is a strong batsman and has
performed well under pressure.

(C) Theumpires will be lenient with Virat
as he is ICC player of the year.

(D) The bowlers will bowl loose delivery

to Virat as he is the captain.
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Q88 Hdh 39 IfSAT BRIHH & d8d, PR

Q89

WRA H AIge BIF 99 aTell dufa
& folg &R H ge (tax holiday) UG @1
2| WagH Yol H HH B A1, GIHAR
Jq1 SRR ufq e A o <=
DI HH BRI | 39 IHGRI A FfaRad
H ¥ B A1 Frhy T ST dadr 87
(A) IRBR 1 3T SIYoOs H 9ifd
f$fiTeat sfear & sgurom & ufa

PIg APRIHAD HaH el SO 2 |
(B) SRIRTEHARI T fQU MY o™ & HROT,
A @ Ugd & AT o9 H
S SYAN & Iid el & W
qeT DI IHE T |
(C) TRPR I gSHE W AT
& TSHC T R I g far S |
(D) AIdIgel 28T BT NI gl 3R

SUIRTHAT INCUE B oIE WU

HIF ol |

faRTe & It W BF A, 9RA =ollde &

Raets ¥ Siiaq & forg smawa® 30 3

2 MRl H 4T M| 39 HUF 9,

fforRea & & @ |1 garga ffka

27

(A) foRTE 9RT & forg wrg=Iell gHeR
2 |

(B) fiRTe U&h Aol deodiot & 3R 394
<d1d H 3rsT UeeiH fhar g

(C) JURR faRTe & AT SR BT Hifdb
I MU @R 31 & IR B |

(D) eary faRTE &7 HAGIR ISdTol &l

Rifd 98 M T |
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Q90 Our train travel was very comfortable this

Q91

P-4

time, as we had booked our tickets in the

AC class compartment. From this

statement, identify which of the following

assumptions is implicit?

(A) All classes of travel provide equal
comfort to passengers.

(B) Train travel is better than travelling
by road.

(C) AC class compartments provide
additional comfort to passengers
compared with sleeper class
compartments.

(D) Tickets in AC class compartment are

slightly cheaper than flight tickets.

Mabhesh got the highest increment in his

salary this year, as he was the top

performer in his department and achieved

all his targets. From this statement, identify

which of the following assumptions is not

implicit?

(A) High increments require high
performance at workplace.

(B) Achieving the set targets means high
performance at workplace.

(C) None of the other colleagues of
Mahesh achieved their set targets.

(D) The salary increment of other
colleagues was lesser than Mahesh

this year.

27

Q90 9 IR TSI ¥ TARI ATAT §Ed

Q91

IRMES oI, Fifd &A1 Tl 200 &

& # BaR fede g fby o | 39 B

4, fr=iferRad % | & a1 gargae fAfka

2?

(A) IET & T AR I3y ®r TH
JIRM U™ Bl B |

(B) eI | IMET ASh A AT 9
8RR B

(C) T oot & fo& goae soft &
St @ o 3wt o1 aifaRad
IR U HR 2 |

(D) T oot & o« @1 fede SS
fepel W oM Tt Bl €

AT BT 39 qY Y I H Fa S
Jagl U< g5, Fifdh G U fIdmT
H e 38T UG fhar o 3R s+
T el Bl BIRTA oo o | 9 $ee
9, FrefaRed 5 9 @9 91 gaigaE [fka
8l 87?
(A) S=a Jagfg & foly HRReA R
Ied UG Bl AMITIRAT Bl 2 |
(B) T3 Y U F1&7 I BRI B Bl
3Fel PRIV UR I UG BT 2 |
(C) 929 & =T WEAIRAT H 9 fohedl =
A1 o MEiRT oed T Ul 181
fopar 2 |
(D) 39 94 AT BT ol H I
FEANT B Iagfg H9 o |
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Q92

Q93

Q4

P-4

A person should marry around the age of Q92 TP Afdd HI 3o Rrem & HA 3R

25 years once he/she has completed his

education and settled in his job. From this

statement, identify which of the following

assumptions is implicit?

(A) Around the age of 25, a person is
mature and also financially stable.

(B) Itisdifficult to find good girls before
the age of 25 years.

(C) Girls do not accept boys who have
crossed the age of 25 years.

(D) Girls do not marry uneducated and

unemployed boys.

‘Mouse’ is to ‘Click’ as ‘Keyboard’ is to Q93

3 2

Select the correct analogy from the given
options.

(A) Point

(B) Scroll

(C) Type

(D) Create

In a certain code language, if PLANE is Q9%4
coded as RICLG, then how will TRAIN

be coded as?

(A) USBKO

(B) VTCJP

(C) VPCGP

(D) VPCHP

28

e # e B9 @ 915 25 99 @ SH A

A1) BRAT BMRY | 397 b 9, Foieferiae

# 9 o | gargaE fAfka 22

(A) 259% @ SH ¥, Ueh aafdd gRudq
3R fawia wu & Rer +ff g1 2|

TN

(B) 25 99 @1 SH ¥ U 3| A

&1 fieT gR&e g 2|

(C) Iefhai I Tedl BT WdR 8l
IRl 2 D! g 25 a¥ ¥ S1f¥d
Il 2 |

(D) orsfda ifrfard JiR SRISR el
SRR aGIRS

HPEAS " o ' &R 7
fau U el | |E rgwudn I |
(A) UlET
(B) whidt
(C) <r=y
(D) fove

e R¥ed de W |, afe PLANE &1
RICLG & ®U # &lie fhar orar g, ar

TRAIN &7 &4 dre far Srgan?
(A) USBKO
(B) VTCJP
(C) VPCGP
(D) VPCHP
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Q95

Q96

Q97

P-4

In a certain code language, if BUILDING
is coded as 2.21.9.12.4.9.14.7, then how
will SKYSCRAPER be coded as?
(A) 19.11.24.19.3.18.1.16.5.18.
(B) 19.11.25.19.3.17.1.16.5.18.
(C) 19.11.25.19.3.1.8.1.16.5.18.
(D) 19.11.25.19.3.18.1.16.5.18.

A is the husband of B. C is the brother of
B. D is the father of B. E is the son of B.
F is the daughter of A. What is the relation
between F and D?

(A) Husband —Wife

(B) Brother — Sister

(C) Grandfather — Grand-daughter

(D) Grandmother — Grandson

Sudhakar is the husband of Sudha.
Sudhakar is the maternal grandfather of
Sumedha, and Sudha is the paternal
grandmother of Somesh. Rakesh and
Ritika are parents of Sumedha, whereas
Somesh is the son of Romesh and Roma.
What is the relation between Romesh and
Ritika?

(A) Brother-in-Law — Sister-in-Law

(B) Cousin Brother — Cousin Sister

(C) Uncle— Niece

(D) Brother — Sister

29

Q95

Q96

Q7

e REd @ 9w 4, afe BUILDING
B2.21.9.12.4.9.14.7% w4 H B
SITaT &, @ SKYSCRAPER &1 & ®I
fopar S

(A) 19.11.24.19.3.18.1.16.5.18.

(B) 19.11.25.19.3.17.1.16.5.18.

(C) 19.11.25.19.3.1.8.1.16.5.18.

(D) 19.11.25.19.3.18.1.16.5.18.

A,B&1 Ul 8| C,B& W€ 8| D, BT

T 81 E,B&T deT 8| F,A @ 91 B |

F3iR D& g w1 ddy 87?

(A) 9fd — el

(B) g — ¥

(C) TT&T—urit (Grandfather—Grand-
daughter)

(D) TTE—9rdT (Grandmother —

Grandson)

JATHR, G BT URT 2 | JETHR, GHET B
T & SR gerT, AR @l q1aT B | T
3R Ry e & Ara—Oar €, sTafe
ATEl, W 3R M7 BT 9T 7 | I
3R Ry & dra a1 ey 2°

(A) TaR — 9™ (Brother-in-Law —

Sister-in-Law)

(B) TR {I$ — §849 (Cousin Brother —
Cousin Sister)

(C) =r=m — #doil (Uncle — Niece)

(D) ¢ — 98
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Q98

Q99

Ratnakar says, ‘I am the brother of
Rashmi, who is the grand-daughter of
Sadanand and Surekha”. Rashmi says, “I
am the daughter of Rajani, who is the
daughter-in-law of Surekha”. What is the
relation between Ratnakar and Sadanand?
(A) Father — Son

(B) Paternal Grandfather — Grandson
(C) Maternal Grandfather — Grandson
(D) Uncle — Nephew

If A&B means A is the husband of B, A#B
means B is the son of A, A@B means B is
the sister of A and A%B means B is the
brother of A, then which of the following
expressions definitely means that S is the
brother of T?

(A) P&Q#HR@S%T

(B) Q&SHT@R%P

(C) R@S%THQ&P

(D) Q&P#T%S@R

Q100 Read the given statements.

P-4

No tablet is a computer. All the computers
are mobiles.

Which of the conclusions given in the
options logically follows from the given
statements?

(A) No tablet is a mobile.

(B) No mobile is a tablet.

(C) Some mobiles are computers.

(D) All mobiles are computers.
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Q98

Q99

Q100

RATPR BBl &, “H e BT 918 8, Sl
QS SR R BT Ul ¥ | FEedt
g, H IO @ 9§, T R @ 98
21" XSTHR 3R FEHE B 9 qn
Hay 2?

(A) foar — g=

(B) TT&T — UiaT (Paternal Grandfather —

Grandson)
(C) A — =ar4r (Maternal Grandfather
— Grandson)

(D) =T — WIS (Uncle — Nephew)

afd A&B &7 31f © A, B®T Ufd &, A#B
BT 31l € B, A BT 92T 8, A@B &7 31ef §
B, A 989 8 3R A%B @7 31ef @ B, A
@ S 7 o FEfaRad #§ @ @ 9@
Arffreaafad aref fAfdad wu 9 w8 2 f
S, T T T8 &7

(A) P&QHR@S%T

(B) Q&SHT@RY%P

(C) R@S%THQ&P

(D) Q&P#T%S@R

fQ T Hort &1 ue |

B cdolc RN ol & | W HIeR
GISIEC IS

el # fau U Aepul § & B9 AT
=py fy U FHoFl &1 Afdbd wU A
STRIRTT AT 2°

(A) BIS deic HIESA T8l 2|

(B) ®Is A Cdele T8l 2|

(C) BB HGEe HEX T |

(D) fl AlaTSe PRER ¥ |
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Q101

GENERAL KNOWLEDGE / AM=I TGN

Who established the Indian Statistical
Institute in Calcutta (now Kolkata)?

(A) RC Desai

(B) PC Mahalanobis

(C) Dadabhai Naoroji

(D) VKRV Rao

Q102 Workers in the primary sector remain

Q103

unemployed for most of the time in a year;
hence, if some of these workers are
transferred from the primary sector to
other sectors, there would be no change
in the total production of the primary. This
type of unemployment is known as:

(A) Short-term unemployment

(B) Disguised unemployment

(C) Temporary unemployment

(D) Organised unemployment

Which of the following is NOT an

economic idea of Mahatma Gandhi?

(A) Non-Violent Economy

(B) Decentralisation, Cottage Industries

(C) Maximum use of Machinery and
Latest Technology

(D) Regeneration of Villages or Village
Sarvodaya

Q104 Seven Mission Program aims to fund cities

to achieve intended milestones. This

programme includes all of the options,

EXCEPT:

(A) 100 Smart Cities Mission

(B) AMRUT or ‘Atal Mission for
Rejuvenation and Urban
Transformation’

(C) HRIDAY, National Heritage City
Development and Augmentation
Yojana

(D) National Mission on Space
Adventure
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Q101

Q102

Q103

Q104

HeADBT (3T DIIBIA) H TR HiReTadh!
TR BT AT fhae ar?

(A) SRR <48

(B) URT wETeAIS™

(C) TTR™TS ARSI

(D) dideTRdl 19

e &9 § 9ffe th 9v H§ e
THY RISHIR & 8, sAfery, Ife g4
A B Afe WIHe &F 9 3 &Fi H
AR fby S 8, a1 B dreiffe
SATEd H P geltd T8l BNTT| S
YHR P RIS BT ST ST &

(A) JAPTAD IRISITRI

(B) 3rffgd SRIoH R

(C) Rl RIS

(D) ST SRISHIRT

I8 W DI a1 Heredr Y 1 anfdid

foar =8 2°?

(A) IR 6 efarasen

(B) fa@<Iaxol, R SANT

(C) WERI 3IR TdHaH ddAid &l
JNMIHTH IIATT

(D) @l a1 Mg HalGd BT GAoiH

A fRE FReH &1 Sy Jféa Wi

BT R BN dx9 & folu &Rl @l

fAfer <91 2| 39 PRI H H 3G AT

T fapey wmfaa ©:

(A) 100 =€ Rier fagm

(B) AMRUT 3T ‘$rITHeT iR I
gRacH & forg sred e

(C) HRIDAY, I faRmad 3reR faar
IR I o

(D) 3idRet AENIP UR I H9H
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Q105 As of August 2018, who is the chairman

of Rajya Sabha?

(A) M. Venkaiah Naidu
(B) Raj Nath Singh

(C) Prakash Javadekar

(D) Ramvilas Paswan

Q106 The Madhya Pradesh State Government

launched a scheme where Below Poverty
Line (BPL) families would be provided
electricity at a cost of ¥ 200 per month.
What is this scheme called?

(A) Seva Bhoj Yojana

(B) Solar Charkha Yojana

(C) Sambal Yojana

(D) Suryashakti Kisan Yojana

Q107 The Thomas Cup, sometimes called the

World Men’s Team Championships, is an
international badminton competition
among teams representing member
nations of the Badminton World
Federation, the sport’s global governing
body. Which team won the Thomas Cup
2018?

(A) Korea

(B) Thailand

(C) Japan

(D) China

Q108 Below are some important events and the

dates which were celebrated in 2018.

Which of these is NOT correctly matched?

(A) World Red Cross Day - 8th March

(B) Goa Revolution Day (GRD) - 18th
June

(C) World Day Against Child Labour -
12th June

(D) The first World Bicycle Day (WBD),
observed by United Nations (UN) -

3rd June
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Q105 JAT I 2018, ASTTAT B eTeT DI

0

(A) TH. dhar g
(B) rorrr Rig
(C) YT STaSER

(D) YMAAE yrAar

Q106 H& YT Y WRBR F Teb 1ol Yo

P STE TR @ (@@Av) B A B
IRaRT &1 T 200 U A8 &I AN |
faSTel ue™ @ Sl | 59 AT B
FIT PHET Sl 57

(A) 4T HIST TSI

(B) SleR aRET IIoTI1

(C) ddel IrorT

(D) Sd=fad fam Ao

Q107 o ®u, fSRT HI—T faea goui &

S AR $al 91T §, Wel & dfddd
IRT PR SSffic T Heve™ & A
It BTy ®)e arelt SHF | b
AW Jefiie ufqanfiar 21 foa
SH A oM BH 2018 SIAT?

(A) BIRAT

(B) orgets

(C) ST

(D) 94

Q108 #ol B Hew@yul "eqn AR flml §

318 2018 & HHRIT AT o7 | 3H W B

RIRSHRE SIS

(A) fawg e o9 fdad 8 — A/

(B) MaT shifd fead (SHRs!) 18— S

(C) a1t 3 & Raemw favg feawd 12 —
o T

(D) AP I (T) FaRT Teer faed

o

Argfhet ooy (SISl we #-mr
ST § 3~
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Q109 Identify the mission from the given

Q110

Q111

Q112

information.

‘In the Union Budget 2018, the Finance

Minister Arun Jaitley has announced this

scheme to educate children from the Tribal

Community.’

(A) Prime Minister Fellowship Scheme

(B) Mahatma Gandhi Sarbat Vikas
Yojana

(C) Ekalavya Model Residential School

(D) Revitalising Infrastructure and
Systems in Education (RISE)

India is the largest fruit producer

in the world.
(A) second
(B) third
(C) fourth
(D) fifth

When did the Government of India extend
urea subsidy to the farmers till 20207
(A) 2017

(B) 2016

(C) 2015

(D) 2018

e-RaKam company, an initiative of the

Government of India, will operate as a

joint initiative of Metal Scrap Trade

Corporation Limited and CRWC. What

is CRWC?

(A) Central Rail side Warehouse
Company Limited

(B) Centre of Rare Watch Company
Limited

(C) Central Railway West Coach Limited

(D) Central Rain Water harvesting

Corporation limited
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Q109 < T IFHRNT A A9 @7 g8 & |

Q110

Q111

Q112

Dl goic 2018 H, faad #2N 31607 Sicel!

9 SECIRIT WHE & dedl bl fRifer

PR B oY 59 AT B \won B B

(A) T&T H3Al HAIRT IISTT

(B) HEI Tl \Ad9q fAdr Ao

(C) U Hiee IMMAR Whal

(D) fRrem # g @/ iR yomforat
T g T R (JfE)

R givrar | NEGICSIR]
IAED 2 |
(A) T
(B) =t
(C) =terr
(D) ur=a

‘hd AT HUYDh[X # I(a?‘{'ll"li Eﬁ 2020 ddh
TR s 4

(A) 2017

(B) 2016

(C) 2015

(D) 2018

e-RaKam HUT, YR TRBR Bl T Ug,
grg ®hY TS HUNIHE fafcs ek
RS & HYad gl & WU H
B BT | ARIRSRAT aam 872

(A) Hgd VoSS JIRERSH HUH|

fofacs
(B) ¥ex i IR dfa due forfics
(C) ¥gd Yeld ke g fofics

(D) D a9 Ot Fogq R g
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Q113

Q114

Q115

Q116

Which of these agricultural institutes is at

the top in the list of Agricultural

Universities in India in 2016-17 as per

ICAR Rankings?

(A) National Dairy Research Institute
(NDRI), Karnal, Haryana

(B) Indian Agricultural Research Institute
(IARI), New Delhi

(C) University of Agricultural Sciences
(UAS), Bengaluru

(D) Assam Agricultural University
(AAU), Jorhat

In India, there are several central

government organisations that are

involved in agricultural marketing. Which

of these is NOT such an organisation?

(A) Cotton Corporation of India

(B) Food Corporation of India

(C) Commission of Agricultural Costs
and Prices

(D) Agriculture Corporation of India

Which one of these is NOT an
e-commerce company?

(A) Amazon

(B) ebay

(C) Flipkart

(D) Yehi.com

Identify the INCORRECT match.

(A) Printing Press - Johannes Gutenberg
(B) Bacteria - Antonie Van Leeuwenhoek
(C) Oxygen - Antoine Laurent Lavoisier

(D) Hydrogen - Blaise Pascal
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Q113

Q114

Q115

Q116

JMSHITIMR BT & FTAR 2016—17 H

IRa H PN favafdgarerai & &

STH W B AT P G A W g

(A) =eFe S Red gReege
(TTSIIMRRTS), HRATA, ERATOM

(B) YR $IY SIIHE G
(BTETemRar), 2 faeed

(C) P faem faeafagarer (quus),
TG

(D) s Y fawafagarey (vey),
SINGIS

IRA H, B3 AT IRGN) FATST € O
P faqoE # wfie § | 399 9 i 4T
AT ATe TE 2P

(A) AR BT I H

(B) YRAII @Igyg A

(C) B AN 3R BIFAl BT JMMANT
(D) WRd & HY R

ST W B AT S—hAG HU el 87
(A) Amazon

(B) ebay

(C) Flipkart

(D) Yehi.com

A 7 B UgA BN |

(A) TUfeT U — e I[ca

(B) SaIRAT — TSI a1 ollde®
(C) ATaAIST — Tl AR lalforR

(D) BIZSIo — lal YD
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Q117 Which of the following laws/principles is Q117 Fr=foRaa % & @9 ¥ &I/ Rigid

NOT correctly matched with its el ad 9 Hol J8] Wrd &°

statement? (A) TARTTSI &1 DI U & qIIa

(A) Avogadro’s law:Equal volumes of all IR garg | I G B SRER AT
gases at the same temperature and H 3Rl BT T EEAT BT ©
pressure contain equal number of (B) dTuet &7 g : 1 # g919 3R
molecules AT & 49 e

(B) Boyle’s law:Relation between (C) <A frgia : afdad 9 afdd #
pressure and volume in gases =R B9 dTell Siifdd Toic &

(C) Contagion theory:Infectious diseases PHRU] B9 drell HhTHd drHIRAT
caused by living agent transmitted (D) g &I IGUEEE TRH] ¥ Plg 9@ ar
from person to person G TP Bl $Holl WX ) el

(D) Hund’s Rule:No two electrons in an W Hhd &

atom can occupy the same energy

level
Q118 Who wrote Ain-i-Akbari? Q118 MST—T—3THeR! fpae forar?
(A) Faizi (A) Bl
(B) Birbal (B) dREd
(C) AbulFazl (C) oge BoTd
(D) Mulla Do Piaza (D) HeolT &1 fogrst
Q119 Identify the INCORRECT match. Q119 3T ¥ & ygard Y |
(A) Between Hope and History : Bill (A) 313 iR sfiesT & 914 : it facied
Clinton (B) Uell 3R SIMaR : #1dh <
(B) Birds and Beasts : Mark Twain (C) =i® Bl 3R 941 qﬁaﬁi‘cﬁ - TEH
(C) Black Holes and Baby Universes : RIGal
Stephen Hawking (D) s fawr « gfaxy e

(D) Broken Wings : Indira Gandhi
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Q120 What is the use of ping command in a Q120 HHeR H U HHIE HT FIT ITINT 57

computer? (A) TISTell @7 MY &F ST - &
(A) To check the power supply forq
(B) To test the ability of the source (B) =it fAfde aeg e d& uger
computer to reach a specified & folg HId PR BT &HaAT BT TIeT0]
destination computer B B foru
(C) To test for any sort of fault in the (C) PYX BTRRR H &l UPR &Y Tereh!
computer hardware BT GET0T B P foru
(D) To check network related issues (D) -ca® | AR TARN @ S|
A B oy
Q121 Which of these input devices is widely QI21 7 ¥ fbw s1Yc fearsd &1 SuANT
used in tests such as aptitude test? UG HY F AFIAl GRIETOT ST aRIeTort
(A) Bar code reader # fopar S &8?
(B) Optical mark recognition (A) IRPTS S
(C) Magnetic ink character recognition (B) diffichd #1d ggam™
(D) Touchpad (C) Ffed S dyaex gga™
(D) cTUS
Q122 Non-impact printers do not touch the Q122 fiic & SRM IR—T9E dTet fliex TR Bl
paper while printing. They use chemical, el 8l A B | I BT R Uil Dl
heat or electrical signals to etch the BIOH & v A, oA ﬁ?ﬂﬁ
symbols on paper. Which of these is NOT FAddl BT STIRT B 8 | S8 F DI AT
a non-impact printer? IR—y1 fliex =181 27
(A) Dot-matrix (A) Sfc dfead
(B) Thermal (B) o’¥a
(C) Deskjet (C) Swhuic
(D) Laser (D) TR
Q123 Which of the following is a device that Q123 91 & | &9 AT SUBRYT fH¥r BfT Br
can send or receive pictures and text over fefSTeetipa o, Tellthie @rsd R =
a telephone line, by digitising an image? 3R THEC WOl AT U HR Al &7
(A) Plotter (A) wifex
(B) Fax Machine (B) ®Had AU
(C) Sound cards (C) ATSS Pre
(D) Monitor (D) Hifex
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Q124 Which of these is NOT in Uttar Pradesh?

(A) Vishwanath Temple
(B) Assi Ghat
(C) Agra Fort

(D) Victoria Memorial

Q125 Which of these places is famous for its

metalwork art, coloured enamelling and
intricate engravings?

(A) Lucknow in UP

(B) Varanasiin UP

(C) Moradabad in UP

(D) Khurjain UP

Q126 What was the population of Uttar Pradesh

as per Census 20117
(A) About 200 million
(B) About400 million
(C) About 100 million
(D) About 2.5 million

Q127 Which folk dance of Uttar Pradesh is being

talked about in the following lines?

‘It’s a tough act of balance where a veiled
woman dancer performs with 108 oil
lamps on her head placed on a wooden
pyramid platform. The songs are primarily
written to praise and revere Lord Krishna
who was born in this region.’

(A) Charkula Dance

(B) Khyal Dance

(C) Raslila Dance

(D) Ramlila Dance

37

Q124 S99 | R IR U< § T8 87

(A) faga=mer wfex

(B) 3=={T =T

(C) MR et

(D) faaeiRar s IRTe

Q125 7 | B9 AT WM o1 I defl, [N

AT 3R Sifee Aamrel & fore ulig
27

(A) STR U H g

(B) SR U # aRIORA

(C) STR U ¥ ARIGEG

(D) IR U<e ¥ Tl

Q126 SFITUMT 2011 & SFAR IR U B

JTETET T oAi?

(A) I 200 FAferds
(B) ST 400 fAferas
(C) <™ 100 FAfera=
(D) T 2.5 fAfera=

Q127 f=faRaa dfaaal & SRk u<er & fbd

S I @ IR H 91 DY O 2 57
H U dAfeel Tdd ddbel & fURIfAe #74
TR 108 Tl @ i DI 30 RR TR I@aR
g wxell 2 | id 5= 9 9 39 &5
H UST BY WA HWT B URMNT AR
T & forg forg g g1

(A) T T

(B) ¥&Tel 74

(ORSEICIVS

(D) Helrel e
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Q128 Which of these is NOT among the main
agencies which are involved in storing
huge quantities of food-grains in Uttar
Pradesh?

(A) FCI
(B) FDI
(C) SWC
(D) CWC

Q129 Which of the following options gives the

names of the important cereal crops of

Uttar Pradesh?

(A) Rice, wheat, ground nut, barley and
maize

(B) Rice, wheat, bajra, barley and maize

(C) Rice, wheat, bajra, barley and
sorghum

(D) Rice, wheat, bajra, millet and maize

Q130 Which one is NOT true about Uttar
Pradesh as per Agro- Economic Research
Centre Report 2014-15?

(A) There are 28 Krishi Vigyan Kendras
(KVKs) in UP.

(B) There are 5 Indian Council of
Agriculture Research (ICAR)
Institutes in UP.

(C) There are 4 State Agriculture
Universities (SAUs) in UP.

(D) There are 4 National Research
Centres (NRC) in UP.

P-4
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QI28 37 | &M Al T TOiRkRl H 4 Uk
TE T O SR US¥ H 9RI AHETOH
3T WeRYT # enfie 27
(A) THIE (FCI)

(B) TWSIeTS (FDI)
(C) SWC

(D) gl (CWC)

Q129 fA=ferRad & & @9 A1 fAdey IR
UQe B AEYUl 3 Bl & A Bl
Iooid HRAT 27
(A) =g, g, S IRERIC il 3R HefepT
(B) A, I, dTORI, SiI R Fah!
(C) TEd, I, dToRT, Si IR Sary
(D) =1ad, g, 9o, IoRT AR Fab]

Q130 P31 e bw RUic 15—2014

P IFJAR SR Yo & IR H BIF Al

GER -1

(A) IO # 28 PV A5 Hg (HdD) 2 |

(B) IR UKW H 5 YRAR Y ITHe
aRYE (JMETRIR) eI £ |

(C) Ul # 4 ¥ Y [eafagarer
(e 2

(D) I& # 4 I A B (TN
g
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Q131

Lalit Kala Academy, UP, awards
scholarships to artists. Which of these is
NOT a subject/field in which these
scholarships are awarded?

(A) Sculpture

(B) Ceramic

(C) Art history

(D) Fashion designing

Q132 Which of these is NOT among the major

Q133

Q134

P-4

irrigation and multi-purpose projects
constructed in Uttar Pradesh to provide
better supply of surface water through
canals?

(A) Varsha Janak

(B) Sarda Sahayak

(C) Ramganga

(D) Gandak Project

This famous political advisor to
Chandragupta Maurya was known by all
of the following names, EXCEPT:

(A) Chanakya

(B) Vishnugupta

(C) Kautilya

(D) Samudragupta

Buddhist scriptures in Pali are commonly
referred to as Tripitakas, i.e. ‘Threefold
Basket’. Which of these is NOT among
the Tripitakas?

(A) Abhidhamma Pitaka

(B) Sutta Pitaka

(C) Upasaka Pitaka

(D) Vinaya Pitaka

39

Q131

Q132

Q133

Q134

SIfoTd el JTBIGH!, IR U, HATDRI

BT BEART W R HAT 2| 399 9
P A vy /&5 T8 8 md 39
gEgfaal o fear Sr 87

(A)

(B) RrfA®

(C) ®all glasr

(D) ®eF feomgf

SR TS H TRl B AR 9 9ag ©
O BT dER JMIRT U HRA @ forg
gRATSRI § | Udh 8 57

(A) T9T 5B

(B) ERET TEIH

(C) T

(D) T8® URATSHT

T A b 39 URg oD
AaEHR B FEfaRed w1 9 o
STET ST o1, 9 & 3MTelTdr:”

(A) =AToTET

(B) fawpge

(C) difew

(D) |gaT<

el # dig il B ek R e,
I ‘fbles IRBS’ Pl Sl & | ST
A B9 a1 Bfde § 9 T8 Y

(A) AT fUdd

(B) g1 focrent

(C) SuATHT fUaet

(D) fa=1am fUdepr
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Q135 Who was the X" or the last Sikh Guru?

(A) Guru Angad
(B) Guru Tegh Bahadur
(C) Guru Nanak
(D) Guru Gobind Singh

Q136 Identify the dynasty from the given

information:-

*  Pushyamitra founded this dynasty.
His dominions extended to the South
as far as the Narmada River and
included the cities of Pataliputra,
Ayodhya and Vidisha. He performed
two Ashwamedha sacrifices. He
also defeated the Bactrian king,
Dematrius.-

*  The fifth king of the dynasty was
Bhagabhadra.-

*  Patanjali’s classic ‘Mahabhashya’ was
written during this time.

(A) Kanva Dynasty

(B) Slave Dynasty

(C) CholaDynasty

(D) Sunga Dynasty

Q137 Harshavardhana brought ‘5 Indies’ under

his control. Which of these were the ‘5

Indies’?

(A) Punjab, Kannauj, Bengal, Bihar and
Jaipur

(B) Punjab, Kannauj, Bengal, Bihar and
Orissa

(C) Punjab, Kannauj, Bengal, Uttar
Pradesh and Orissa

(D) Rajasthan, Kannauj, Bengal, Bihar

and Orissa
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Q135 TRedl AT RN g = DI 17

(A) TS 3T
(B) T& T FEIGR
(€) T& TS
(D) T& Mfde Rz

Q136 1 TS SFHNI A oI & I8A By

* qgAE | 5 9 B R B |
I9D YT Sferor § HaT T4l db
hel o 3R UICellgs, JRAT 3R
fafeem @ wrer wonfia 9 =W«
3Ry fere™ Py | S=M Sfagas
RIS, SHIGT DI 91 BT |

*  XTSTGel BT U=l Gl YRS o |

*  gdolfel ® TR U HEMTS 30
A & AR o Y o |

(A) T ST

(B) T XToiaer

(C) Tt T

(D) Y roTee

Q137 gYael 7 '5 ST Bl eruw fIHr H

forar | g8 | = A1 5 g TP

(A) USTE, B, a1, fI8R 3R SRgR

(B) USTE, Hiiot, €T, fagR 3R Seil

(C) USITE, H=ilet, §7Ted, SR Tad iR
SEIkl

(D) ISR, H=ilol, d9T, fdegR 3R
ST
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Q138 Which one of these about Akbar’s

Navaratnas is NOT correctly matched?

(A) Abu’l Fazl — He was the Wazir of
Akbar and author of the
‘Akbarnama’, an account of Akbar’s
reign.

(B) Raja Man Singh — He was Akbar’s
finance minister.

(C) Abdul Rahim Khan - ¢ - Khana— He
was a poet and the son of Akbar’s
trusted caretaker, Bairam Khan.

(D) Mullah Do Piaza — He was among
the Mughal emperor Akbar’s chief

advisors.

Q139 Which of these occur due to movement

or shift of tectonic plates where they meet?
(A) Cyclone

(B) Flood

(C) Landslides

(D) Earthquakes

Q140 The world is divided into time zones. What

P-4

is the total number of time zones?
(A) 12

(B) 24

(C) 48

(D) 6
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Q138 JHER & AR & IR H STH F B AT

e & ¥ Hel T81 @il 8?
(A) 31T Hola—dg 3fHaR & IOk o

AR 3fHIR & AR H STHERAT]
@ ED U |

(B) IS AM Rig — 98 PR & o
HAT o |

(C) 37geT M W@ — § — QT — d8
TH Bfd F AR FHaR & TRIIAG
TEITA B dTcl 9 IR @H &
g3 o |

(D) Heen a1 o — 98 qra wme

IHR & I AARHRI 4 Uh
o |

Q139 S99 | BIF AT CHIMD ©Ic & e

a7 fRde & SR BIAT § S8l I <aei-dh
e g7

(A) Fghard

(B) 918

(C) Txger

(D) 4

Q140 g &1 wwy &3t ¥ gier T 7 | 9

&3 B F[ol T R 2?
(A) 12
(B) 24
(C) 48
(D) 6

SET-EF



Q141 Which is the Standard Time Meridian of

India?

(A) 82°30" E longitude
(B) 37°6" N latitude
(C) 68°7" E longitude
(D) 97°25" E longitude

Q142 Which of these is NOT a mountain peak

in The Great Himalayas or the Himadri?
(A) Mt. Kanchenjunga

(B) Mt. Makalu

(C) Mt. Nag Tibba

(D) Mt. Nanda Devi

Q143 Which of'these is NOT a Gulf'in the Indian

Territory?

(A) Gulfof Kutch

(B) Gulf of Cambay or Gulf of Khambat
(C) Gulf of Mannar

(D) GulfofAgqaba

Q144 Which of these is a European country?

P-4

(A) Bulgaria
(B) Sudan
(C) Benin

(D) Ghana
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Q141 WRA &1 AF® F9g ARSI i a1 87

(A) 82°30" E QIR
(B) 37°6' N 3fener
(C) 68°7" E TR
(D) 97°25" E <3MaR

Q142 374 | HF AT HgM e a1 oy

H udd RreR T8 27
(A) ATSC AT

(B) HISC HabIc]
(C) ¥Se AN fare

(D) ArST el <l

Q143 379 A DI A HRAT &F H TH @re

T8 2°
(A) BT B TS

(B) ®d P! WISl AT WIS Pl
(C) HIR &I WISl
(D) JABET B ETel

Ql44 T4 & HIF AT W <7 87
(A) g

(B) IS4
(C) of =

(D) 9t

TGS
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Q145 Which of these neighbouring countries of

India is WRONGLY matched with its
national sport?

(A) Afghanistan - Buzkashi

(B) Bangladesh - Cricket

(C) Bhutan - Archery

(D) Nepal - Volleyball

Q146 Rain shadows are created when prevailing

winds carrying moisture rise quickly in

elevation up a mountainside, where the

air cools and condenses to precipitate out

its moisture in the form of rain or snow.

Which of these does NOT create rain

shadow effect?

(A) The Hawaiian island of Kauai

(B) Death Valley in California

(C) The coastal areas of Mediterranean
Sea

(D) The Himalayas

Q147 Which amendment act of the Indian

Constitution reduced voting age from 21
to 18?

(A) 73 amendment act of 1992

(B) 86™ amendment act of 2002

(C) 74" amendment act of 1993

(D) 61 amendment act of 1989

Q148 Which of these is NOT a subject under

Union List?

(A) Public Health
(B) Atomic Energy
(C) Foreign Aftairs
(D) War and Peace

Q145 YRd & 3 TSNl <M H | DI AT <

TAd WD I AT T WA A 7l
QT &7

(A) ABITET — goebredt

(B) dFeATQer — fohbe

(C) e — dRETSl

v oo v

(D) Ul — dfetidiel

Q146 IR @ BRI d9 g3 il & o

gAY T BT HW So™ B forg Aol |
AT % S HY H O TH BN AT F A
fiRm @ fou dafa exft g1 399 9
DI AT a7 BRAT Y919 81 91T 27
(A) ®Z HT A3 gAY

(B) dferpiffar # Sor dei

(C) Ti&g 9FR & dcid &

(D) fgHTeta

Q147 RO Afoemd @ foba o rfafasa

9 HdSH DT SH 21 H HTTHR 18 47
(A) 1992 BT 73a1 G Srfafaw
(B) 2002 P 86d ¥HeMe rfarfras
(C) 1993 BT 74ai FeMeA SrfSf=aq
(D) 1989 BT 61d e Srfrfras

Q148 T8 | P AT Y YN & dBd BIg

fawg =161 2°

(A) TSGRy
(B) TATY Hoif

(C) fager 7

(D) g 3R ifey
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Q149 With an aim to boost innovation and

entrepreneurship in agriculture, the
Government of India is introducing a new
programme to mentor start-ups and to
enable them to connect with potential
investors. What is the programme called?
(A) PMFBY

(B) AGRI-UDAAN

(C) PMKSY

(D) AGMARKNET

Q150 Which ofthe following is NOT a function

of the Parliament?

(A) The Parliament has legislative (law
making) and financial functions
(money bill and budgetary function);
besides, it also controls the Executive
and ensures its accountability.

(B) The Parliament performs some
electoral functions, as it elects the
President and the Vice President of
India.

(C) The Parliament has the power of
discussing and enacting changes to
the Constitution (i.e. amendment
power).

(D) The Parliament has no judicial
functions and Council of Ministers
are responsible for the removal of
President, Vice-President, and Judges
of the Supreme Court and High

Courts.

Q149 HfY # AR IR IAMHAT PI I

T B B ¥, YRT WRBR Ce—3M
3R I I Faerel ¥ Sre- H |erd
M B oY T T BiHH I B
B B | 59 BRIHH DI KT HET ST 27
(A) diHUHdIarE (PMFBY)

(B) TUI—3SM (AGRI-UDAAN)

(C) diupsdudars (PMKSY)

(D) THIH-C (AGMARKNET)

Q150 fA=ferRad & & &9 AT F9E &1 dr

T8 2?

(A) G ARl (B a9) IR faci
PR B & (@F T IR Iorc™
BT, $HD AATdT, T&§ BRIBNI DI
0N FEfa a=clt § &R !
Saesl gHed a=dl 7 |

(B) HHE {B GG BRI Bell &, Fifd
Ig YRT & Ul 3R SIRIECUf
&7 AT R B |

(C) F¥g ¥ R (i e 2rfee)
# gRadHl R =@ R AR AN
IR BT AFR T |

(D) H9S & U] Plg MIH BRI T8l o
IR rgUfdy, SIRTEUfT 3R guA
PIC 3R ITq AR &
aRyg RTRER 7|
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Read the following Instructions carefully : fr=faRaa Al & a9 9 ue -

1. Out of the four alternatives for each question, only | 1. TG U B 1%&' ]%‘Q T IR fdbeul § |
one circle for the correct answer is to be darkened el IR D %‘I’Q 3. TH. 3R, 3tX U4 WX
completely with Blue/Black Ball Point Pen on the REE REd el BT & Elﬁ g el dlel l‘ﬁs.c
OMR Answer Sheet. The answer once marked is not o | ’Jﬁ| TP dR ST sifdd ﬁ?";’ o B
liable to be changed EIEASHICECIIE EIIC IS G %\r|

2. The candidates should ensure that the Answer Sheet | 2- oeet m PN DI IR IF Bl Iﬁ@T .‘_‘[
is not folded. Do not make any stray marks on the SICRCESSIER aﬁs‘ SREENIEIS (_*ITITﬁ |
Answer Sheet. Do not write your Roll No. anywhere EAGICIEE STPHTP ST tF)[ 3 feRa
else except in the specified space in the Answer Sheet. AT & o 7 fored !

3. Handle the Test Booklet and Answer Sheet with care, | 3. TRIET QE[ SEARER TN
as under no circumstances (except for discrepancy Elﬁ ifep foeit 1 aRRerfc A (W RN
in Test Booklet), another set will be provided. W Al P ‘a’ﬁ‘s’ ) W TR1eT k| Sz

Uq IR UF Il ol BRI SITUATT |

4. The candidates will write the correct Test Booklet | 4. tlﬁ&ﬂ W 15[ éT T[Iﬁ tlﬁ&ﬂ W QiﬁﬁTy[
Series as given in the Test Booklet in the Attendance BT goee wel a¥Ie I BIoNI—ua ¥ forg |
Sheet.

5. Each candidate must show on demand his / her Admit | 5. tl;@ NIER T RG] tlﬁ&ﬂ%ﬁ PeT TP Bl
Card to the Invigilator 31997 9d9T 95 ﬁETQ |

6. No candidate, without special permission of the | 6. 31efleTh T hel IANieTh &l [y Sﬂl:ﬁ%[ ®
Superintendent or Invigilator, should leave his / her o ?bﬁ‘s‘ qeTed} ST wRIe | ‘8’5@ |
seat.

7. The candidates should not leave the Examination Hall | 7. Eﬁ]’?j??[ P D Eﬁ JUAT 3N A ﬁ'{’
without handing over their Answer Sheet to the T oiemeft erger were AR @ﬁ@;ﬁl i
Invigilator on duty. Cases where a candidate has not el ademefl =1 BoRI—ua R gwTer el
signed on the Attendance Sheet will be deemed not ﬁv‘({ SURERIE] SN Bl IHT ST I el
to have handed over the Answer Sheet and dealt with cflcrd % 3R RERS il T AT BT A
as an unfair means case. AT ST |

8. Use of Pencil/Electronic/Manual Calculator is |8, Uf~geT /Seldei=id / gXddrfeld UREGD BT
prohibited. _b"CRIﬂ'lT Elﬁfi?[ %\’|

9. The candidates are governed by all Rules and | 9. e Bfe H SR & %I'Q gteref} AT
Regulations of the Commission with regard to their @t st QE[ faferam N afa % [
conduct in the Examination Hall. All cases of unfair (‘ij%lﬁ AT & A Al BT RASKIRCIRIR
means will be dealt with as per Rules and & ferr QET faferast & STIAR EﬁT”'
Regulations of the Commission.

10.After Examination is over, candidate has to return 10. 99087 & IR 3] SR Th hel ITaNIeld
his Answer Sheet to invigilator. Invigilator will hand Pl AT & | IEd gRT wIedl &l IR
over the Candidate’s copy to candidate, then only T3 BT Sl Uil BRI BRI ST el
candidate is allowed to leave the examination hall. S SwRid &1 e gl Bﬁ?’ﬁ @I 3 d Ukl
Candidate is only allowed to take Candidate’s copy \ﬂNJﬁ | SR TS 1 et ufq apedt @
of answer sheet. ST TR o ST T 3 %l

11. Candidates are not allowed to take Test Booklet with | 11.99&lT & SURid gdemel o goem W
them They have to submit the Test Booklet to the PeT ITINIETH P ST BT | TRIeT W
invigilator after the exam. BT GRETRIT U AT HEl of S |hdl & |
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